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WITER, FENPYeRILRs BlE@idSwitch ARISwitch BSIPv4RIRIZERE, EEREESwit
ch AFISwitch BZ |BFEIZIPV6FHIFRIE, (R MPVeRILERILIEIE,

—. BAME:
Vlan int100: Vian nt100:
switehd 19 168100124 02 168.50.1/24
Vlan int101: Vlan int101:
3002::164 g unnel 0 3003::1i64

3001:1/64 3001:2/64

= EESE:

(1) SwitchABEEE

# fSERBIPVEEL R IR,

<SwitchA> system-view

[SwitchA] ipv6

# EREE VIan-interface 100891t E,

[SwitchA] interface vlan-interface 100
[SwitchA-Vlan-interface100] ip address 192.168.100.1 255.255.255.0
[SwitchA-Vlan-interface100] quit

# Ee&#EOVlan-interface101A9IPv6ibit,

[SwitchA] interface vlan-interface 101
[SwitchA-Vlan-interface101] ipv6 address 3002::1 64
[SwitchA-Vlan-interface101] quit

#BBWSHEE, FEIENE, BmOIARNSREERN, FEEROEXAS
TPIjEE,

[SwitchA] service-loopback group 1 type tunnel

[SwitchA] interface GigabitEthernet 2/0/1
[SwitchA-GigabitEthernet2/0/1] stp disable
[SwitchA-GigabitEthernet2/0/1] port service-loopback group 1
[SwitchA-GigabitEthernet2/0/1] quit

# BEEFaIFE.

[SwitchA] interface tunnel 2/0/0

[SwitchA-Tunnel2/0/0] ipv6 address 3001::1/64
[SwitchA-Tunnel2/0/0] source vlan-interface 100
[SwitchA-Tunnel2/0/0] destination 192.168.50.1
[SwitchA-Tunnel2/0/0] tunnel-protocol ipv6-ipv4

# FETunnelIEOME FECERIES | RV SHEIE].
[SwitchA-Tunnel2/0/0] service-loopback-group 1
[SwitchA-Tunnel2/0/0] quit

# EEE M Switch A% Tunnel2/0/0# 0% Group 2H9E5SESH.
[SwitchA] ipv6 route-static 3003:: 64 tunnel 2/0/0

(2) SwitchBHIEZE

# {F8EIPVesL R INEE,

<SwitchB> system-view

[SwitchB] ipv6

# ERE 0 Vlan-interface 100A9EHE,

[SwitchB] interface vlan-interface 100
[SwitchB-Vlan-interface100] ip address 192.168.50.1 255.255.255.0
[SwitchB-Vlan-interface100] quit

# Fe&#E O Vlan-interface101A9IPv6iBiE,

[SwitchB] interface vlan-interface 101
[SwitchB-Vlan-interface101] ipv6 address 3003::1 64
[SwitchB-Vlan-interface101] quit
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# BEBWSIHEE, FEIENR, HimOIIARNSREEN, TEERO EXES

TPIfEE,
[SwitchB] service-loopback group 1 type tunnel
[SwitchB] interface GigabitEthernet 2/0/1
[SwitchB-GigabitEthernet2/0/1] stp disable
[SwitchB-GigabitEthernet2/0/1] port service-loopback group 1
[SwitchB-GigabitEthernet2/0/1] quit
# BEFIFE.
[SwitchB] interface tunnel 2/0/0
[SwitchB-Tunnel2/0/0] ipv6 address 3001::2/64
[SwitchB-Tunnel2/0/0] source vlan-interface 100
[SwitchB-Tunnel2/0/0] destination 192.168.100.1
[SwitchB-Tunnel2/0/0] tunnel-protocol ipv6-ipv4
# fETunneliZOME FECERFES | B SIREIE,
[SwitchB-Tunnel2/0/0] service-loopback-group 1
[SwitchB-Tunnel2/0/0] quit
# ERE M Switch BT Tunnel2/0/0$2OZGroup 1H9%55ER .
[SwitchB] ipvé route-static 3002:: 64 tunnel 2/0/0
(3) WIFFCELER
TR LREZE, $53EESwitch AFISwitch BRI TunneiZIRESAIT :
[SwitchA] display ipv6 interface tunnel 2/0/0 verbose
Tunnel2/0/0 current state :UP
Line protocol current state :UP
IPv6 is enabled, link-local address is FE80::C0A8:6401
Global unicast address(es):
3000::1, subnet is 3000::/64
Joined group address(es):
FF02::1:FFA8:6401
FF02::1:FF00:1
FF02::1:FF00:0
FF02::2
FF02::1
MTU is 1480 bytes
ND reachable time is 30000 milliseconds
ND retransmit interval is 1000 milliseconds
Hosts use stateless autoconfig for addresses
IPv6 Packet statistics:
InReceives: 55
------ (B8)
[SwitchB] display ipv6 interface tunnel 2/0/0 verbose
Tunnel2/0/0 current state :UP
Line protocol current state :UP
IPv6 is enabled, link-local address is FE80::C0A8:3201
Global unicast address(es):
3000::1, subnet is 3000::/64
Joined group address(es):
FF02::1:FFA8:3201
FF02::1:FF00:1
FF02::1:FF00:0
FF02::2
FF02::1
MTU is 1480 bytes
ND reachable time is 30000 milliseconds
ND retransmit interval is 1000 milliseconds
Hosts use stateless autoconfig for addresses
IPv6 Packet statistics:
InReceives: 655
...... (#%)
# MSwitch A_ERTLAPIngIBXJuwRAIVian-int1 013 AYIPveithiit :
[SwitchA] ping ipv6 3003::1
PING 3003::1 : 56 data bytes, press CTRL_C to break
Reply from 3003::1
bytes=56 Sequence=1 hop limit=64 time = 1 ms
Reply from 3003::1



bytes=56 Sequence=2 hop limit=64 time =1 ms
Reply from 3003::1
bytes=56 Sequence=3 hop limit=64 time =1 ms
Reply from 3003::1
bytes=56 Sequence=4 hop limit=64 time =1 ms
Reply from 3003::1
bytes=56 Sequence=5 hop limit=64 time =1 ms
--- 3003::1 ping statistics ---
5 packet(s) transmitted
5 packet(s) received
0.00% packet loss
round-trip min/avg/max = 1/1/1 ms
PO, EEXER:
1) JER(EREIPVeEE KINEE.
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(2) FTEEE—MWSHEAH, FEHOMALSRRER, FEFEROLXASTP
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